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1
1.1
AUTOCHO1.f8r ( T -A )
T -A
T -A
1.2
() 14 3
1.3
-
1.4
108 10
400
—
g ) g
% o [t
1 000 2600
Hf=1. 000
TTBTEIE
[BA7 : mm]
4118
B 10000(mm)
1.5
o ck 21 (N/mm?)
o ck 21 (N/mm?)
SD295
30.00 ( )

FORUMS8



(KN/m)

24.500

10.000

19.500

15.000

19.000

14.000

1.6
@

0.000

0.000

(m
(m

Hr

@

[1]

1.000

HF

1.000

FORUMS8
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[1]
I_NI/\VWWWWWW\VW\VW\V\V\VWV/WV/WW\!IW\!IWWWWWWWWWWWWW\V\VWWWWW\V\V\VWWW\VW\V
]
(]
1
[
1|
[
[
[
(|
[
[
[
[
[
1|
D
—_——d e
]
(kN/m?)
(m) (m
1 0.000 00 10.000 10.000 |o |o |o
1.8
1.9
[1]
] : Ff = 1.000 m, Fr = 2.000 m
i
1|
1!
1!
1
1
|
1|
!
[
|
L
l | Fr=2.000
Lo z
Ff=1.000 : :
z b
I = R -
| |
L |
1.10
1.11
)
30.000 20.000

FORUMS8



1.12

1.13

1.13.1

1.13.2
o

@

0.000 ( )
0.106 ( )
(KN/m?)
0.000 0.000
CB  (kN/m%) 10.000
tang . 0.600
aE (kN/m?)
20000.000
10° (N/mm*) 2.500
n 10.00

FORUMS8




1.14
1.14.1
€s B
@m (kN/m?)
1/6 1.500 200.000
B (m)
s (m) es Mg V
Mg (kN.m)
v (kN)
1.14.2
@
D
(N/mm?)
O O s T a T =2
1.00 7.000 180.000 0.220 | 1.600
2)
(N/mm?)
O O Ta T a2
1.00 7.000 180.000 0.220 | 1.600
T al
T a2

FORUMS8




2
2.1
(€H)
1)
2
4 5
2)
@ Vi Xi Vi Vi
x x Vi(mz) i vi 1 1 1 1
1 1/2x 0.108x 5.400x 1.000 0.292 1.072 2.400 0.313 0.700
2 0.400x 5.400x 1.000 2.160 1.308 3.300 2.825 7.128
3 1/2x 0.010x 5.400x 1.000 0.027 1.511 2.400 0.041 0.065
4 1.518x 0.600x 1.000 0.911 0.759 0.300 0.691 0.273
5 2.600x 0.600x 1.000 1.560 2.818 0.300 4.396 0.468
2 4.949 8.266 8.634
XG > Vi Xi 2 Vi 8.266 4.949 1.670 (m)
YG > Vi Vi > Vi 8.634 4.949 1.744 (m)
@
1
i
|
|
|
|
|
|
I
I
| 2
I
|
|
I
|
|
|
I
———
! I
N, 4
2)
™ Vi Xi Vi Vi
% % Vi) ” Vi i Xi i Vi
1| 1/2x 0.010x 5.400x 1.000 0.027 1.515 4.200 0.041 0.113
2 2.600x 5.400x 1.000 14.040 2.818 3.300 39.565 46.332

FORUMS8



™ Vi Xi Vi Yi
x x Vi(ma) i vi 1 1 1 1
b2 14.067 39.606 46.445
X6 X Vi Xi T Vi 39.606  14.067 2.815 (m)
YG >z Vi Yi Vi 46.445 14.067 3.302 (m)
®
[1]
D
i
1!
1!
1
1
|
1|
!
[
|
|
|
1|
[
[
|
.
|
|
__________ 1
L J
2)
™ Vi Xi Vi Yi
x x Vi(mz) i vi 1 1 1 1
1 1.000x 0.400x 1.000 0.400 0.500 0.800 0.200 0.320
2| 1/2x 0.008x 0.400x 1.000 0.002 1.003 0.867 0.002 0.001
b2 0.402 0.202 0.321
X6 = Vi Xi T Vi 0.202  0.402 0.502 (m)
Y6 T Vi Yi TV 0.321  0.402 0.800 (m)
2.2
€Y)
[1] ( )
D
]
[
(B
)
[
[
1|
|
)|
[
[
L
o
|
I
I 2
|
E—
Lo J

FORUMS8



2)
™ Vi Xi Vi Yi
x x Vi(ms) i Vi 1 1 1 1
1| 1/2x 0.003x 1.400x 1.000 0.002 1.517 1.533 0.003 0.003
2 2.600x 1.400x 1.000 3.640 2.818 1.300 10.258 4.732
> 3.642 10.260 4.735
X6 X Vi Xi T Vi 10.260  3.642 2.817 (m)
YG > Vi Vi > Vi 4.735 3.642 1.300 (m)
¢
[1] ( )
D
i
L
)|
|
(|
[
1|
1|
|
)|
[
[
)|
)|
[
[
)|
b
|
s S ]
Lo J
2)
™ Vi Xi Vi Yi
x x Vi(ma) i Vi 1 1 1 1
1 1.000x 0.400x 1.000 0.400 0.500 0.800 0.200 0.320
2| 1/2x 0.008x 0.400x 1.000 0.002 1.003 0.867 0.002 0.001
> 0.402 0.202 0.321
XG > Vi Xi > Vi 0.202 0.402 0.502 (m)
Y6 T Vi Yi o ZVi 0.321  0.402 0.800 (m)
2.3
@
[11
Wy Vv X
(kN) (m
24.500 x 4.949 121.260 1.670

FORUMS8



@
[1]

[2]

D

D

( )
(m (m
v(m) X Y vI(m) X1 v
C )| 14067 | 2.815 | 3.302 0.000 | 0.000 | 0.000
( ) 0.402 | 0.502 | 0.800 0.000 | 0.000 | 0.000
(m)
Vu(m) Xu Yu
( )| 14.067 | 2815 | 3.30
( ) 0.402 | 0.502 | 0.800
vu Vv VI
Xu (Vv X VI XD Wu
Ya (v Y VI YD) W
W Vu TR
(KN) kN
( )| 14.067 x 19.000  267.273 0.000 x 19.500  0.000
( 5| 00402 x 14.000 5.622 0.000 x 15.000  0.000
W X
Wu WE | (Wu Xu WI XD)/wW
(kN) (m)
C )| 267.213 2.815
() 5.622 0.502
( )
(m) (m)
v(m) X Y VI(m) X1 v
( )| 14067 | 2.815 | 3.302 3.642 | 2.817 | 1.300
( ) 0.402 | 0.502 | 0.800 0.402 | 0.502 | 0.800

FORUMS8




(m
vu(m) Xu Yu
( ) 10.425 2.815 4.001
« ) 0.000 0.000 0.000
Vu vV Vi
Xu v X VI XI) W
Yu (Vv Y VI YD W
Wu Vu Wl V1
kN) (kN)
( ) 10.425 x 19.000 198.079 3.642 x 19.500 71.015
( ) 0.000 x 14.000 0.000 0.402 x 15.000 6.024
W X
Wu WE | (Wu Xu WI XD)/w
(kN) (m
( )| 269.094 2.816
« ) 6.024 0.502
2)
Hr=2.000
v
Hf=1.000
I— -~
P£f=10. 000 M [ \
Pr=20. 000
HF 1.000 (m)
Hr 2.000 (m)
Pf 10.000 (kN/m?)
Pr 20.000 (kN/m?)
Pf+Pr
U= ) *Bj+Bc- 1 = 61.770 (kN)

- 10 -

FORUMS8
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®
[1]

[2]

2.4

Pf+2 - Pr .
= ———+Bj = 2.288 (m)
3+ (Pf+Pr)
Bj 4.118 (m)
Bc 1.000 (m)
A 1.000
( )
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi i
121.260 0.000 1.670 0.000 202.519 0.000
267.273 0.000 2.815 0.000 752.506 0.000
5.622 0.000 0.502 0.000 2.822 0.000
394.155 0.000 957.846 0.000
( )
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi i
121.260 0.000 1.670 0.000 202.519 0.000
269.094 0.000 2.816 0.000 757.666 0.000
6.024 0.000 0.502 0.000 3.024 0.000
396.378 0.000 963.208 0.000
1
N = E (ql14+q2) + L

FORUMS8
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[1]
Jm
B
)|
)|
)
(L
1|
1|
)|
)|
[
[
[
[
[
[
)|
)|
)
[
_—
i |
S -
qL, 92, L N X
(KN/m) (KN/m?) (m) () P
1 10.000 10.000 2.610 26.100 2.813
2.5
[11 ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
S 19.000 kN/m’
) 30.00 °
5 o 30.000 °
Wi 56.00 °
(w) ) *)
hw 0.000 m
WCKN)

W) P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 119.156
58.00 | 213.705 0.000 37.492 | 251.197 118.002
w 56.00° P 119.156 kN

Wesin(w—¢)
P =

costo—dp—a—20)

271. 1563 X sin(56. 00° —30.00° )

cos (56.00° —30.00° —0.000° —30.000° )

119.156 kN

64.00 °

FORUMS8
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Ph P cos(a &) 119.156x cos( 0.000°  30.000° ) 103.192 kN
Pv P sin(a &) 119.156x% sin( 0.000°  30.000° ) 59.578 kN
H 6. 000
Ho = — = = 2.000 m
3 3
X Xp Ho tana 4.118 2.000x tan0.000° 4.118 m
y yp Ho 0.000 2.000 2.000 m
,,,,,,,,, Y v v v v ¥ ¥V v ¥ v ¥ ¥V
|
[2] ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
S 19.000 kN/m?
® 30.00 °
0 ® 30.000 °
Wi 56.00 ° 64.00 °
(w) W) )
hw 2.000 m
W(KN)
W) P (kN)
56.00 | 205.051 12.816 40.471 | 258.338 113.524
58.00 | 189.960 11.873 37.492 | 239.325 112.425
w 56.00° P 113.524 kN

FORUMS8
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2.6

€Y
[1]

Wesin(fow—¢)

cos(o—¢p—a—19)

258. 338 X sin(56. 00° —30.00° )
cos (56.00° —30.00° —0.000° —30.000° )
113.524 kN

Ph P cos(a &)  113.524x cos( 0.000°  30.000° ) 98.315 KN

Pv P sin(@ &)  113.524x sin( 0.000° 30.000° ) 56.762 KN

X Xp Ho tana 4.118 2.000x tan0.000° 4.118 m
y yp Ho 0.000 2.000 2.000 m

56. 762

( )
rm
|
L
b
.

[

o

|
Qe S ]

Lo J

FORUMS8
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(kN.m)
Ne (kN He (kN) X (m) Yo M Ne X M HoY.
394.155 0.000 2.430 0.000 957.846 0.000
26.100 0.000 2.813 0.000 73.419 0.000
59.578 103.192 4.118 2.000 245.342 206.384
479.833 103.192 1276.608 206.384
[2] ( )
r4IIﬂﬂlIIIWﬂIIW
b
(|
[
[
(L
!
!
|
1|
)|
)
[
)|
[ l_ v
[ =
)|
)|
v 1ol
- —_——
I
TIT(T
(kN.m)
Ne (kN) Hi (kN) X (m) Yo [ Me Ne X M HoYe
396.378 0.000 2.430 0.000 963.208 0.000
-61.770 0.000 2.288 0.000 -141.316 0.000
26.100 0.000 2.813 0.000 73.419 0.000
56.762 98.315 4.118 2.000 233.746 196.630
417.470 98.315 1129.057 196.630
N, H, M,
(kN) (kN) (kN_m)
) 479.833 103.192 1070.224
) 417.470 98.315 932.427
@
Ne N (kN)
He o Ho (kN)
M No Bj 2.0 M, (kN.m)
B; 4.118 (m)

FORUMS8
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|
N He M.
(kN) (kN) (KN.m)
( 479.833 103.192 -82.247
( 417.470 98.315 -72.856
n (10.000m)
N He M.
(kN) (kN) (kN.m)
( 4798.333 |  1031.920 -822.468
( 4174.703 983.150 -728.560

FORUMS8
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2.7
2.7.1
ﬂﬁ
€p V
€s (m)
Ms (kN.m)
v (kN)
€a B n
€. (m)
B (m B  4.118
n
Ms v €s €.
(kN.m) (kN) (m (m
( -72.856 417.470 0.175 0.686
2.7.2
H, CA. Vtano
H, (kN)
Cs (KN/m*)  cs 10.000
tang . tang . 0.600
A m) A. L B
v (kN)
L (m) L 1.000
B. (m) B. B 2es
B (m B  4.118
s (m)
€s MV A. B V
(m () (m (kN)
( -0.175 4.118 4.118 417.470
T, H, Hb
T
Hb (kN)
Hu Hb
(KN (N f. f.
( 291.662 98.315 2.967 1.500

FORUMS8
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2.7.3

)
v

gmin, gmax = ——

LB

2)

gmax

Me
€s

gmax
gmin
B

[1] ( )

2.230
-0

2. 059

12 L8

129 "S¥1

=2
L

6M;z
+ —
LB?

(kN)
(kN.m)
(m

(m) x 3 B 2 €:

(KN/m?)
(kN)
4.118
m L

(m B
1.000

KN/

(m)
B

gmin

gmax

4.118 87.421

145.621

200.000

FORUMS8
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2.7.4

LB

@

A

B A 1.0
S'kv ~
B = En (m™)
ky (KN/m®)
BV 3/4
ky = koo [—
V VO (03)
L b k‘ b |
| |
| ° |
Kvo 30cm
(KN/m*)
ko = —— « oF
T R
Bv (m)
Bv = yAv = JL-B = 6.417
a Eo (kN/m?)
Av (m*)
B (m B  4.118
L (m L  10.000
E (kN/m) E  2.50x 107
h (m h  0.600
A m A 2.059
A b b
b 2 b B 2
a E«(kN/m) (ﬁ*) B A
° kio(KN/m?) ki (kKN/m?)
20000.000 66666.667 6702.585 | 0.247026 | 0.509
n
FH, FH,
FH, (m) FH,  0.600
FH, (m) FH, 3.600 10.000 0.360

FORUMS8
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®

(€)]¢

A

O]

@

@
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3
3.1
3.1.1
@
2
| '_L _________ A
I I
|
@
(m)
% % Vi) g vi Vi Xi Vi Vi
1| 1/2x 0.108x 5.400x 1.000 0.292 | 0.072 | 1.800 0.021 0.526
2 0.400x 5.400x 1.000 2.160 | 0.308 | 2.700 0.665 5.832
3| 1/2x 0.010x 5.400x 1.000 0.027 | 0.511| 1.800 0.014 0.049
z 2.479 | —— —_— 0.700 6.406
XG 2 Vi Xi Vi 0.700 2.479 0.282 (m)
YG > Vi Vi > Vi 6.406 2.479 2.584 (m)
3.1.2
@
[1]
W y v
(kN) X (m)
( ) 24.500 x 2.479 60.736 -0.023
3.1.3
[1] ( )
Xp 0.259 m
yp 0.000 m
H 5.400 m
a 0.106 °
Y s 19.000 kN/m’
(0] 30.000 °
o) 20.000 °

FORUMS8
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64.00 °
92.655 kN
33.918 kN
6 m

Wi 56.00 °
(w) ) ®)
hw 0.000 m
W(KN)

w() P (kN)
56.00 | 187.365 0.000 36.523 | 223.888 98.668
58.00 | 173.614 0.000 33.843 | 207.457 98.327
w 56.00° P 98.668 kN

Wesin(ow—¢)
P =
coslom—¢p—a—9)
223. 888 X sin(56. 00° —30.00° )
cos(56.00° —30.00° —0.106° —20.000° )
98.668 kN
Ph P cos(a &) 98.668x cos( 0.106°  20.000° )
Pv P sin(fa d) 98.668% sin( 0.106° 20.000° )
H 5. 400
Ho = — = = 1.800 m
3 3
X Ho tana xp 1.800x tan0.106° 0.259 -0.25
y yp Ho 0.000 1.800 1.800 m
3.1.4

FORUMS8
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[1] ( )
i
1|
1!
1|
|
1|
!
L
b
I
L
L
| |
| |
o
I
:____I_| _________ 1|
- 4
Ni H: Xi Yi M Mat+My
(kN) (kN) (m) (m) (KN.m)
60.736 0.000 -0.023 0.000 0.000
33.918 92.655 -0.256 1.800 166.779
0.000 92.655 166.779
Xi Yi
3.1.5
@
AT T
r 2
1 S
= [Bf7 : mm]
Ei= ﬁ
(cm) (cm/ ) (cm®)
1" 7.0 D19 2.865 4.00 11.460
2 — | —
1 7.0 D29 6.424 4.00 25.696
2 - N
23.209 (cm?)
10.351 (cm?)
@
2+n , ,
S A+ (x=d) +As + (x—d)}=0.0
L oxERDD,

FORUMS8
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M
T bk (h x  G—d) - (h2—d) (x—d) + (h,/2—d)
s === +n-as - +1 -+ As ¢
2 ( 2 3 ) X X

d—x

O — N Oc¢*
X
X (mm)
h (mm) h 518.000
b (mm) b 1000.000
d (mm)
d- (mm)
As (mm?)
As*® (mm?)
n n 15.00
e (mm)
oc (N/mm?)
s (N/mm?)
M (N.mm)
M N X (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
) 166.779 0.000 14442 5.178 7.000 163.270 180.000
©)
S
Tn — b .hd é Tal
T (N/mm?)
Sh ()
d (mm)
b (mm)
T a (N/mm?)
al Ce Cpt CN T u"
CNZl-F% (1 =CN = 2)
T a" (N/mm?)
Ce
Cpt Pt
CN
Mo
(kN.m)

FORUMS8
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(N/mm?)
Si(kN) d(cm) T T a T Ce |Cpt | CN
92.655 44800 0.207 0.360 1.600 1.32(1.24 | 1.00

FORUMS8
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[1]

4.1

0.000 m

[BE4Z : mm]

4.1.1
€Y)
D

SR |

2)

Xi

Vi

0.300

0.300

Xi
(m

0.500

Vi

()

0.600

0.600

1.000

1.000x 0.600x

0.500 (m)

0.300 0.600

Vi

Vi Xi

>

XG

FORUMS8
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@
[1]
D

2)

4.1.2
€))
[1]

@
[1]

D

i
b
(I
)|
[
1|
|
1|
)|
)|
[
[
[
|
[
[
)|
b
|
i .
b J
Vi Xi Vi Xi
" " @) Q)
1.000x 0.400x 1.000 0.400 0.500 0.200
0.400 | —— 0.200
XG > Vi Xi > Vi 0.200 0.400 0.500 (m)
Wy v X
(kN) (m)
24.500 x  0.600 14.700 0.500
( )
v X 4 X1
(™) (m (m) (m)
( ) 0.400 0.500 0.000 0.000
Vu Xu
() (m
( ) 0.400 0.500
Vu LAY |

FORUMS8
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®
[1]

4.1.3

[1]

Xu (V X VI XI') W
Wu Vu Wi Vvl
(kN) (kN)
( ) 0.400 x 14.000 5.600 0.000 x 15.000 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m
( ) 5.600 0.500
( )
Ni Xi Ni Xi
(kN) (m) (kN.m)
14.700 0.500 7.350
5.600 0.500 2.800
20.300 | — 10.150

gl
g2

1
E(q1+q2) L

2+ ql+qg2
3+ (gl+q2)

127 /8

129 "G¥1

L 1.000 (m)

(KN/m?)
ol 02 N (kN) X (m)
87.421 |  101.554 -94.488 0.488

FORUMS8
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4.1.4

[1]

N
(KN.m)

M

-10.150

46.066

35.916

(m

0.500

0.488

Ni
(kN)

-20.300

94.488

74.188

4.1.5

o

[Bf7 : mm]

00T

00%

001

009

i

(cm)

2.534

5.068

2.00

4.00

)
1.267

(cm’/

1.267

D13

D13

(cm)

10.0

10.0

1"

4.179 (cm?)
2.090 (cm?)

FORUMS8
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@
2en , ,
X A+ =) +As » (x—d)}=0.0
L oxERDB,
M
0. = B B
b x h x , x—=d) - 2—d) (x—d) + (h"2—d)
— — 2 4n . As e neAs -+
2 2 3) X X
d—x
O — N Oc¢*
X
X (mm)
h (mm) h 600.000
b (mm) b 1000.000
d (mm)
o (mm)
As (mm*)
As® (mm?)
n n 15.00
e (mm)
ocC (N/mmz)
oS (N/mm?)
M (N.mm)
M X (N/mm°) (N/mm?)
(kN.m) (cm)
( ) 35.916 8.075 1.917 7.000 149.272 180.000
4.2 [2]
0.300 m
R
)
(
)
[
(!
[
[
1|
[
[
[
[
[
[
n
2 |l :
| I_ _________ A
I J
[H4Z : mm]
300

FORUMS8
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4.2.1
@
D
i
L
[
(B
)
[
1|
1|
)|
)|
[
)
)|
|
[
[
)|
)|
)
[
| S,
N ]
2)
Vi Xi Vi Xi
x x () Q)
1 0.700x 0.600x 1.000 0.420 0.350 0.147
z 0.420 | —— 0.147
XG > Vi Xi > Vi 0.147 0.420 0.350 (m)
¢
[1]
D
B
(|
[
[
[
1|
1|
)|
)|
[
)
[
|
[
[
)|
|
|
ool .
L d
2)
Vi Xi Vi Xi
i i () ()
1 0.700x 0.400x 1.000 0.280 0.350 0.098
z 0.280 | —— 0.098
XG > Vi Xi > Vi 0.098 0.280 0.350 (m)

FORUMS8



- 32 -

4.2.2
€Y
[1]

@
[1]

®
[1]

W y v X
kN) (m
24.500 x  0.420 10.290 0.350
)
1)
Y X Vi X1
(m) (m () (m
( ) 0.280 0.350 0.000 0.000
Vu Xu
() (m)
( ) 0.280 0.350
Vu VvV Vil
Xu (V X VI XI') W
Wu Vu Wl Vi
(kN) (kN)
( ) 0.280 x 14.000 3.920 0.000 x 15.000 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m)
( ) 3.920 0.350
( )
Ni Xi Ni Xi
(kN) (m (kN.m)
10.290 0.350 3.601
3.920 0.350 1.372
14.210 | ——— 4.974

FORUMS8
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4.2.3

1
E;(ql%—qZ) - L

N =

2+ ql+q2

><

3+ (qgl+q2)

ql
g2

0.700 (m)

L

[1]

X (m)

0.344

N (kN)

-64.657

(KN/m?)
g2

97.314

ql

87.421

-0 171

2,230

4.2.4

[1]

N
(kN.m)

M

-4.974

22.226

17.253

(m

0.350

0.344

Ni
(kN)

-14.210

64.657

50.447

FORUMS8
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4.2.5
@
M
a > 2.5dDPE  S,= S——tan0
a 2.5d Sy S
Sh N)
d (mm)
d* (mm)
b (mm)
S N)
M (N_mm)
0 0 0.000 tanb 0.000
a (mm)
. S M . Sh
(2m) 25 d ?Cm) N (KN.m) M/d®  tan@ (N
( ) 50.000 125.000 48.410 50.447 17.253 0.000 50.447
Sh
Tn — 5 = T al
b-d
T, (N/mm?)
Sk N\)
d (mm)
d- (mm)
b (mm)
S N)
a (N/mm?)
T a Ce Cpt Cdc T "

T 4" (N/mm?)
Ce
Cpt Pt
Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc
( ) 50.447 50.000 0.101 0.825 1.600 1.29 | 0.70 | 4.15

FO

RUM8
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[1]

5.1

0.000 m

[BE4Z : mm]

5.1.1

€Y)
D

2)

Xi

Vi

2.028

2.028

Xi
(m

1.300

Vi

()

1.560

1.560

1.000

2.600x 0.600x%

1.300 (m)

1.560

2.028

Vi

Vi Xi

>

XG

FORUMS8
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1)
i
|
|
|
|
|
|
|
| 1
|
|
|
|
|
|
|
S |
| |
|
2)
Vi Xi Vi Xi
. . (m) (m
1 2.600x 5.400x 1.000 14.040 1.300 18.252
> 14.040 E— 18.252
X6 X Vi Xi  ZVi 18.252  14.040 1.300 (m)
5.1.2
(@)
[1]
Wy v X
(kN) m
24.500 x 1.560 38.220 1.300
@)
[1] ( )
1)
Vv X VI X1
(m) (m () (m
( ) 14.040 1.300 0.000 0.000
Vu Xu
(m) (m
« ) 14.040 1.300
Vu vV Vi
Xu (VX VI XI') wu

FORUMS8
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Wu Vu Wi 1
(kN) (kN)
( ) 14.040 x 19.000 266.760 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu wr Xb)/w
(kN) (m
«( ) 266.760 1.300
®
[1] ( )
Ni Xi NI Xi
(kN) (m) (kN.m)
38.220 1.300 49.686
266.760 1.300 346.788
304.980 | —— 396.474
5.1.3
1
N = E (ql4+q2) + L
q
L
X
[1]
I_l’
L
|
|
|
|
|
|
|
|
[
[
|
|
|
|
|
|
|
b
r——" """ A
I ]
al a2, L N X
(kN/m) (kN/m?) (m) o o
1 10.000 10.000 2.600 26.000 1.300
5.1.4
[1] ( )

FORUMS8
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Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
S 19.000 kN/m’
@ 30.000 °
5 @ 30.000 °
Wi 56.00 ° 64.00 °
(w) w ®
hw 0.000 m
WCKN)

w () P (kN)
56.00 230.682 0.000 40.471 271.153 119.156
58.00 | 213.705 0.000 37.492 | 251.197 118.002
w 56.00° P 119.156 kN

Wesin(o—¢)
P =
costo—¢dp—a—20)
271. 153 X sin(56. 00° —30.00° )
cos (56.00° —30.00° —0.000° —30.000° )
119.156 kN
Ph P cos(a &) 119.156x cos(0.000° 30.000° ) 103.192 kN
Pv P sin(a &)  119.156x sin(0.000° 30.000° )  59.578 kN
H 6. 000
Ho = — = = 2.000 m
3
y yp Ho  0.000 2.000 2.000 m
2+ Pv 2X59. 578
pv= = = 45.829 kN/m
L 2. 600
pv
Pv
L
L1 0.000 m

FORUMS8



5.1.5
1
N = E(q1+q2) L

2+ ql+qg2
3+ (ql4+q2)

gl
g2

L L 2.600 (m)

- 39 -
L2 2.600 m
. o m pv 45, 829
REWTENMNE DS ERE pd = T N 5 600 X 0.000 = 0.000 kN/m
1 1
N = rh (pd+pv) - L2 = EX (0. 000+45. 829) X2.600 = 59.578 kN
pd+2-pv L2 0.000+2X45,829  2.600
- I A B X = 1.733 m
pd+pv 3 0. 000-+45. 829 3

FORUMS8
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[1] )
(KN/?)
” 2 N (kN) X (m)
145.621 108.875 330.845 1.363
= 5
: :
5.1.6
[11 ( )
_m
B
(|
[
)
(|
)
(!
|
[
1|
|
)|
)|
[
[
)|
|
)
[
I fﬂjjll
|
L __
AAAANNA
e
e
L~~~4¢{HJJI£L
N Ni X
(kN) (kN.m)
304.980 396.474
26.000 33.800
59.578 103.269
-330.845 -450.798
59.713 82.744

FORUMS8
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5.1.7
@
ST}
. E
1 >
= [BAL : mm]
T m=
(cm) (cm’/ ) (cm®)
10.0 D13 1.267 8.00 10.136
10.0 D13 1.267 4.00 5.068
9.918 (cm?)
4.959 (cm?)
@
2+n , ,
X A+ —=d')+hs - (x—d)}=0.0
LVxZRD D,
M
g, — ) ’
b-x h  x , x—=d) - 2—d)
s |———]+n-As" - +n -
2 2 3 X
d—x
O — N Oc¢*
X
X (mm)
h (mm) h  600.000
b (mm) b 1000.000
d (mm)
d- (mm)
As (mm?)
As*® (mm?)
n n 15.00
e (mm)
oc (N/mm?)
oS (N/mm?)
M (N.mm)

As ¢

(x—d) » (b 2—d)

X

FORUMS8
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M x (N/mm?) (N/mm?)
(kN.m) (cm)
( ) 82.744 10.854 3.258 7.000 176.249 180.000
5.2 [2]
0.300 m
7
B
(I
(B
)
)
[
1|
|
|
[
)
[
[
[
[
b
e
|
e I 1
| |
| IR S -
[BEAZ : mm]
300
5.2.1
@
D
7
B
(|
(B
)
1|
1|
!
)|
) )
)
)
[
|
[
[
|
|
[
b
-——-1 L
L ]
2)
Vi Xi Vi Xi
i i () ()
1 2.300x 0.600x 1.000 1.380 1.150 1.587
z 1380 | —— 1.587
X6 X Vi Xi T Vi 1.587 1.380 1.150 (m)

FORUMS8
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@
)

2)

5.2.2
€Y
[1]

@
[1]

D

|
Vi Xi Vi Xi
. . (m) (m
2.300x 5.400x 1.000 12.420 1.150 14.283
12.420 E— 14.283
XG > Vi Xi > Vi 14.283 12.420 1.150 (m)
Wy v X
(kN) m
24.500 x 1.380 33.810 1.150
( )
Vv X VI X1
(m) (m () (m
« ) 12.420 1.150 0.000 0.000
Vu Xu
(m) (m
« ) 12.420 1.150
Vu vV Vi
Xu (VX VI XI') wu

FORUMS8
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Wu Vu Wi VI
kN) kN)
( ) 12.420 x 19.000 235.980 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu wr Xb)/w
(kN) (m)
«( ) 235.980 1.150
®
[1] ( )
Ni Xi NI Xi
(kN) (m) (kN.m)
33.810 1.150 38.882
235.980 1.150 271.377
269.790 | —— 310.259
5.2.3
1
N = E (ql4+q2) + L
q
L
X
[11
L EEEEEEEE R}
i
|
|
|
|
|
|
|
|
[
[
|
|
|
|
|
|
|
L
=) e 1
I |
i o ; N X
(kN/m?) (kN/m?) (m (kN) m
1 10.000 10.000 2.300 23.000 1.150
5.2.4
[1] ( )

FORUMS8
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Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
S 19.000 kN/m’
@ 30.000 °
5 @ 30.000 °
Wi 56.00 ° 64.00 °
(w) w ®
hw 0.000 m
WCKN)

w () P (kN)
56.00 230.682 0.000 40.471 271.153 119.156
58.00 | 213.705 0.000 37.492 | 251.197 118.002
w 56.00° P 119.156 kN

Wesin(o—¢)
P =
costo—¢dp—a—20)
271. 153 X sin(56. 00° —30.00° )
cos (56.00° —30.00° —0.000° —30.000° )
119.156 kN
Ph P cos(a &) 119.156x cos(0.000° 30.000° ) 103.192 kN
Pv P sin(a &)  119.156x sin(0.000° 30.000° )  59.578 kN
H 6. 000
Ho = — = = 2.000 m
3
y yp Ho  0.000 2.000 2.000 m
2+ Pv 2X59. 578
pv= = = 45.829 kN/m
L 2. 600
pv
Pv
L
L1 0.300 m

FORUMS8



N =

pd+2 - pv
pd+pv

1 1
B « {(pd+pv) - L2 = E;><(5.2884—45.829)><2.300

= b58.785 kN

L2 5.288+2X45,829  2.300

X = 1.454 m
3 5. 288445. 829 3

5.2.5
1
N = E(q1+q2) L

2+ ql+qg2
3+ (ql4+q2)

gl
g2
L

L 2.300 (m)

- 46 -
L2 2.300 m

. » . pv 45, 829

REWTENMNE DS ERE pd = T N 5 600 X 0.300 = 5.288 kN/m

FORUMS8
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[1]

5.2.6
[1]

129 "G¥1

(KN/m?)
ol 02 N (kN) X (m)
145.621 113.115 297.546 1.198

N X
(KN.m)

310.259

26.450

85.474

-356.508

65.675

FORUMS8
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5.2.7
€Y
M
a > 2.5dDFA S, = S———tanh
a 2.5d Sy S
Sh Q)
d (mm)
d* (mm)
b (mm)
S Q)
M (N_mm)
0 0 0.000 tanb 0.000
a (mm)
S M Sh
d" 2.5 d a M/d®  tan@
() () (kN) (KN.m) (kN)
) 50.000 125.000 164.470 54.028 65.675 0.000 54.028
S
Tn — h, é T a1
b-d
T, (N/mm?)
Sh N\)
d (mm)
d- (mm)
b (mm)
Q)

“ (N/mm?)
al Ce Cpt Cdc T "
T 4" (N/mm?)
Ce
Cpt Pt
Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc
) 54.028 50.000 0.108 0.255 1.600 1.2910.90 | 1.00

FO

RUM8
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